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Summer Packet
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IMPORTANT INSTRUCTIONS FOR STUDENTS!!!
We understand that students come to 9t grade with different strengths and
needs. For this reason, we ask students to complete the packet before the

beginning of the school year!
e Students should try to answer all the questions; you must show all work.
e Khan Academy video tutorials may be very helpful to you. HISD has aligned Khan

Academy with Algebra |, are available by clicking this link:
http://www.houstonisd.org/cms/lib2/TX01001591/Centricity/Domain/8050/Khan _Acad Video Algmt Algl.
pdf

e Finally, honor and integrity is at the heart of a Westside Wolf! Smart wolves never cheat.
You are only hurting yourself by attempting to copy someone else’s work. This packet is
to help you be ready for Algebra Il, and help your teachers know what you can do.

e Need face-to-face help with packet? Go to tutorials the first week of school!

e There will be an assessment over this material on or before 2 week of school.

e All student that are not newly enrolled must have their summer packets complete by the
end of the first week of school.

e Students who enrolled at Westside High School on or after the first day of school, must
submit their summer packet within two weeks of their enrollment date at Westside.

Now! Get Ready, Get Set, and Do Your Best!


http://www.houstonisd.org/cms/lib2/TX01001591/Centricity/Domain/8050/Khan_Acad_Video_Algmt_Alg1.pdf
http://www.houstonisd.org/cms/lib2/TX01001591/Centricity/Domain/8050/Khan_Acad_Video_Algmt_Alg1.pdf
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Algebra 1 Summer Assignment 2019
Westside High School

Circle the best answer for the problems. Show your work on a separate sheet of paper and attach.

1. Arrecreation park measures 560 m long
by 700 m wide. A 250-m by 150-m area of
the park is used for soccer and baseball
fields. How much of the area remains?

A 37,500 square meters

B

80,000 square meters

C 354,500 square meters
D 392,000 square meters

2. How many feet of fencing is needed to
fence in a 130 ft by 225 ft area?

F

G

H
J

355 ft
385 ft
710 ft
29,250 ft

3. Which is the best approximation for \/g?

A
B

2.1
2.2

C 23
D 25

4. Which number is closest to \/E?

F

0.4

G1

H
J

1.4
15

5. A bakery produces 1450 muffins per day.
About how many dozen muffins are
produced in a 5-day work week?

A

B
C
D

about 7250 dozen
about 1450 dozen
about 604 dozen
about 506 dozen

10.

Fran’s store spent $64,000 on expenses
last year. Rent for the store was 35% of
those expenses. How much did Fran
spend on rent?

F $2240
G $4160
H $22,400
J $41,600

Which is equivalent to \/E ?

A 4
B 8
C 14
D 32

What is the prime factorization of 300?

F 22e5°

G 22¢3458

H 22¢3¢5?

J 2+3.5°

The estimated population of Fiji in
2012 was about 9 x 10°. The estimated
population of Gibraltar in the same year
was about 3 x 10*. About how many

times greater was the population of Fiji
than Gibraltar?

A 3 times greater

B 10 times greater
C 30 times greater
D 300 times greater

A species of phytoplankton measures
about 2 x 107 in. A grain of sand
measures about 1 x 10~* in. About how
many times longer is the grain of sand
than the phytoplankton?

F 20 times greater
G 50 times greater

H 100 times greater
J 200 times greater



11.

12.

13.

Earth is about 9.3 x 107 mi from the Sun.

Saturn is about 8.9 x 108 mi from the
Sun. About how much further from the
Sun is Saturn than Earth?

A 7.97 x 108 mi
B 9.6 x 10° mi

C 4.0 10" mi
D 4.0 x 108 mi

What is the sum of 3.6 x 1072 and
2.4 x 10%?

F 6.0x10°

G 6.0x10*

H 2.436 x 10?

J  2.40036 x 103

Which equation matches the line shown
on the graph below?
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14,

15.

The speed of Car A is shown in the graph.
The speed of Car B is shown in the table.
Which car is traveling at the greater speed?

CarA
10y
8
i
E 6
3 /’
& 4 -
a T
2 Pl
X
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Time (minutes)
a CarB N\
Distance (mi) Time (hr)
75 3
150 6
225 9
\_ 300 12 J
F CarA
G CarB

H Both cars are traveling at the same rate.

Which proportion could be used to solve
the following problem?

The scale onamap is 1 in. =50 mi. The
distance between two cities is 425 mi.
What is the distance on the map?

425 _ 1
A ===
x 50
S0_ 1
B X 425
S0_ x
c 1 425
D L1- X



16.

17.

What is the equation of the line?

¥

=8 =6 -4 |2 14 68

F y=—%x
G y:—%x
H yz%x
J y=%x

Which proportion could be used to solve
the following problem?

A recipe for sesame chicken calls for
%cup of chopped carrots. If the recipe
is for 4 servings, how many cups of
carrots are needed for 9 servings?

A

B

o x|bd xIp
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18.

19.

What is the probability of spinning a
letter B on Spinner 1 and the number 1
on Spinner 2?

A
Ra5Y

Spinner 1 Spinner 2
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N‘,_\ w | NP MW

The table shows the number of different
colors of marbles a student found when
he opened a bag.

Marble Colors
Color Number
Red 15
Purple 18
Yellow 12
Orange 16
Green 14

What is the probability that he will
randomly pick up a yellow marble?

A 25%
B 20%
C 16%
D 12%



20. The formula for the circumference of

21.

22.

acircle is C = zd. About how much
farther will a bicycle with a 27-in.
diameter wheel travel in one complete
rotation than a bicycle with a 25-in.
diameter wheel?

F 2in.
G 6.28in.
H 1256in.
J 325.57in.

For 12 months, Jeanne has belonged

to a book-of-the-month club. Jeanne
has spent $70.45 on the club. The first
month, she paid the monthly fee and
spent an additional $10.45 on books.
She has only paid the monthly fee since
then. What are the initial value and the
rate of change of this function?

A initial value: 5; rate of change: 10.45

B initial value: 10.45; rate of change: 60

C initial value: 10.45; rate of change: 5

D initial value: 15.45; rate of change: 70.45

Which statement about the graph is true?

¥

F The graph is linear and increasing.
G The graph is linear and decreasing.
H The graph is nonlinear and increasing.
J The graph is nonlinear and decreasing.

23. Which transformation maps figure
ABCDEF to figure A’B’C’D’E’F?

24,

¥

rotation
reflection
translation
dilation

0w >

What are the coordinates of point A?

|
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o4
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By 4
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\
F (-3,-4)
G (4,3
H (-2,2)
J (-1,4)




25. What would be the coordinates of the
image of AABC after a dilation with the
scale factor 2 about the origin?

¥y

A A'(-2,3),B'(2,-2), C'(-5, 1)

B A'(-4,5), B'(4, -4), C'(-7, 3)

C A'(-4,6), B'(4,-4), C'(-10, 2)

D A'(-1,1.5), B'(1, ~2), C'(-2.5, 0.05)

26. A cylinder has a height of 7 in. and a
diameter of 6 in. What is the volume
of the cylinder to the nearest cubic inch?

F V=66in2

G V=132in3
H V=198in?
J V=792in3

27. Given [, || ¢, and cut by transversal ( ;,

which statement is true?

1% ¢

/3 |
5/6 ¢
7’ |

/2 and /6 are supplementary

/6 and /7 are supplementary
Z7and /5 are complementary

(W@ R ve B

/2 and /1 are complementary

28.

29.

30.

A 30 ft cable extends from the floor of
the lookout of a fire tower. The cable is
anchored to the ground 18 ft away from
the base of the tower. What is the height
of the floor of the lookout tower?
F 481t
G 35ft
H 24 ft
J 10ft
What is the distance between points
A and B?
8
8 -6 |4 \—9\0 ] 1] 6| 8 ‘

-8
A7 C 15
B 13 D 17
One card is to be drawn from a deck of

52 cards. The deck includes four types
of cards; red hearts, red stars, black
triangles, black circles. Each type has
13 cards, numbered 1 — 13. What is

the probability of drawing a red one, a
black three, or a six of hearts? Give your
answer as a simplified fraction.

F > H 1L
52 13
c 4 3 3
52 52



31. Which is the value of the missing output?

input output
4 16
2 4
0 0
-2 ?
A -4 co
B -2 D 4

32. Which rule describes the pattern?

X y
5 14
3 10
1 6
-1 2

F Divide x by 4 and add 3.
G Multiply x by 2 and add 4.
H Add 9 to x.

J Multiply by 6.

33. Your friend is making sandwiches for
lunch. She has the choices of turkey,
roast beef, or ham, wheat or white bread,
and American, Swiss, or Colby cheese.
How many different sandwiches can
she make?

A 3
B 8

C 18
D 20



